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Please remind me to hit "record."

January 18, 2024

1.2 - Library of Functions, Math Models, More Domain,

1.3 - Graphing Techniques using Transformations of Basic functions.

Real-world
problem

Formulate

Mathematical
model

Mathematical Interpret Real-world
—_—

Solve
predictions

conclusions

"Inasmuch as our model relates to reality, we are not sure. Inasmuch as we are
sure, our model doesn't relate to reality."
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Find the Quadratic Function fitting this graph.
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with( LinearAlgebra) :
A= ((1,16)|(1,—4)|(— 7.5, 10))
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Need to talk about the strict definition of increasing and decreasing.
A function f is called increasing on an interval [ if
flx)) < f(x) whenever x; << x> in /
It is called decreasing on / if

flxy) = fx2) whenever x, << x;in /[

This means that you include the max/min point. I said it should be
an open interval. Not so, according to this.
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